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ERENEEERAENBIHE T
(2010 FTF¥FZE 2013 F L¥F)

() MAEBEBABNEMER : -

BEEHE 2010 4 | 2011 £ | 2011 4F | 2012 & | 2012 & | 2013 £
T¥F | B¥F | T¥F | E¥F | T¥F | £¥F
HE18 3 3 3 3 4 4
(3.2%) | (34%) | (3.7%) (4%) (5.6%) | (5.6%)
EE 10 10 9 8 7 6
(10.8%) | (11.4%) | (11.1%) | (10.8%) | (9.7%) | (8.5%)
BREXF 6 6 5 4 4 4
(6.5%) | (6.8%) | (6.2%) | (5.4%) | (5.6%) | (5.6%)
= il 0 0 0 0 0 0
(0%) (0%) (0%) (0%) (0%) (0%)
BEEZEANE 5 4 4 4 5 5
KE (5.4%) | (4.5%) | (4.9%) | (5.4%) | (6.9%) | (7.1%)
FAFMBERE 67 62 58 51 48 48
| (72.0%) | (70.5%) | (71.6%) | (69%) | (66.6%) | (67.6%)
Hith 2 3 2 4 4 4
(2.1%) | (3.4%) | (2.5%) | (5.4%) | (5.6%) | (5.6%)
R B 5 A& B
mOEBEBEHZEA 93 88 81 74 72 71
BHEE

(i) TBIG/HBENABEBNECHNEBZAENHE © -

2010 & | 2011 & | 2011 &F | 2012 & | 2012 &F | 2013 £
T | BRE | TRE | L¥E | THE | by

TBIIREAOMEME

e 14 13 11 13 8 5
% 5 {8

MEAMAEANDEMR 6 o 4 6 6 4

MAS&EHE
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(i) BEE20I3F6H30FAILLTIREBHNEGEFRASHNBHBEREEAE: -

& 1% 0 5 AEHE

H 2001 FF ¥ FH
B 2002 & F ¥ F4E
g 2002 FFEFHE
B 2003 &F F ¥ F
B 2003 FF ¥ FH
B 2004 & F ¥ F
§ 2004 FFEFHE
B 2005 & E¥F#E
5 2005 F F X FHE
H 2006 & F ¥ F#E
B 2006 F FEEFHE
B 2007 &£ F¥F#E
§ 2007 FF ¥ FHE
B 2008 & F ¥ F 48
B 2008 F F ¥ F
B 2009 & F ¥ F
B 2009 F F ¥ F
§ 2010 &F F ¥ F 48 10
g 2010 F F X FH 5
B 2011 & L ¥ F#E 6
g 2011 FFEEHE s
5

6

4

|, || INDNINDNWIMNMNO|O|P|O|O|,P|O|O|O

B 2012 FF F ¥ 58
B 2012 F FHFiEE
H 2013 F F ¥ F {8
B 71

(iv EMEBAERHNENRMBMZ MR

2010 £F | 20114 | 20114 | 20124 | 20124 | 2013
F¥EFE | E¥F | F¥EF | E¥F | THEF | E¥EF

B Ha
EBEIR= 4 58 3 33 4 28
BMEHHE

3+ R ARE $2,563 | $636,158 | $35,158 | $300,070 |$34,262.31 |$538,323.64
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(v) ENERLRFEEEIRMBNEREEZEHERE (AHESHH

Bl) 2 618 EFESNF SN ERENESEROEHEASNE
g: -
2010 £4F | 2011 &ZF | 2011 & | 2012 & | 2012 £ | 2013 £
T | baep | FasE | b | FiE | bvs
CHEBABRHME
SIRERE NS R 4 >8 3 33 4 28
CEBENRRENE
EHEREBASE | o 3 0 ] 0 .
g
CEBENRRENE
bEEEERB(AKE
EREGI)E 618 EFFTE | 0 0 0 0 0 0
BT E S AT
AS®E
CEBENRRBNE
o T 75 4 B 1 B R A
EopRmENEEE | O 0 0 0 0 0
BASHE
BRELH

—®2-=%+thH






